80
25

0

=
TP hits

TP layers

20

60

50

15

10

20 30 40

10

-0

mkFit1000CTime__RECO

mkFit1000MTime__RECO

[N of associated tracks (simToReco) vs hit ]

[N of associated tracks (simToReco) vs pixel layer ]

—RECO
__RECO

110000,
mKkFit1000,

25

mKFit1000ATime__RECO

m

TP hits

jobal
Global
Global
20
TP layers

Global
V0001_R000000001__Global

ill
I
i

R000000001

V0001_R000000001.
[

10

|lll|

V0001_R000000001

1]
[T

10 20 30 40
—— DQM_V0001.
—— DQM

—— DQM
[N of sim] — bom

Ik

1

N of simulated tracks vs hit

-0

[N of simulated tracks vs pixel layer ]

8

18 20

7

6
TP pixel layers
16
TP 3D layers

o

6 8 10 12 14

4

2

N
o o
— —
Sd1 pPanisuolIay

[N of associated tracks (simToReco) vs 3D layer |

8

20

TP 3D layers

6

TP pixel layers

5

4

sajonedbunioel

"0 2 4 6 8 10 12 14 16 18

[[N of simulated tracks vs 3D layer ]




	Contents
	Page 1


